PRECALCULUS

RECTANGULAR COORDINATES

Extra Credit Review 

1. Find the perimeter of the triangle whose vertices are (-1,-2), (4,2), (-3,5).  Answer: 21.30u

2. Show that the triangles whose vertices are (6,7), (-8,-1), and (-2,-7) is isosceles. Answer: Yes it is isosceles because two sides measure
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3. Show that the triangle whose vertices are (10,5), (3,2), and (6,-5) is a right triangle. Find the area of the triangle. Answer: Yes it is a right triangle and the area is 29 u2
4. Prove that the points (2,4), (6,2), (8,6), and (4,8) are vertices of a parallelogram. Answer: Yes m = -1/2 and m=2
5. Prove that the points (1,3), (-2,-3), and (3,7) are collinear . Answer: Yes, m=2
6. Determine the coordinates of the vertices of the triangle if the midpoints of its sides are (3,2), (-1,-2), and (5,-4). Answer: (-3,4), (9,0), and (1,-8)
7. Find the slope and the angle of inclination of the line passing through the points (
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,2) and (0,1). Answer: m = 
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, θ=30°
8. Show that the line joining the midpoints of the sides of triangle ABC with vertices (5,7),  B(1,-3), and C (-5,1) is parallel to the third side and one half as long.

9. Find the interior angles of the triangle whose vertices are (-3,-1),  (4,4), (-2,3). Answer: 
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10. Line L2 makes an angle of 60° with line L1. If the slope of L1 is 1, find the slope of L2. Answer: θ = -3.73
11. Find the area of the polygon whose vertices are (2,5), (7,1), (3,-4), and (-2,3). Answer: 39.5 u2
12. Find the distance between the two parallel lines 
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 and 8x + 15 = 5y Answer:2.12 u
13. Find the coordinates of the point which is equidistant from (2,3), (4,-1), and (5,2). Answer: (3,1)
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